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Kim’s  Maths Stage 7   

 

 
  Change to index form. 

 

యݔ√  (1)   

 

 

 

 

(2)  ඥݕଶఱ  

 

 

 

 

(3)  √ℎଷభభ   

 

 

 

 

(4)  ඥܽଷర
 

 

 

 

 

(5)  √ܾଷళ   

 

 

 

 
  Change to square root form. 

 

(6)  
1

ଶయݔ√  

 

 

 

(7)  
1

ඥݕଷర  

 

 

 

(8)  
1

√ܽଶఱ  

 

 

 

(9)  
1

√ܾଷళ  

 

 

 

(10)  
1

√ܿହవ  

 

 



 

 
  Change to square root form. 

 

(11)  ܽ
ଶ
ଷ 

 

 

 

  

(12)  ܾ
ଷ
ହ 

 

 

 

 

(13)  ܿ
ଵ
ସ 

 

 

 

 

ݔ  (14)
ହ

ଵଷ 

 

 

 

 

ݕ  (15)
ହ
଼ 

 

 

 
  Change to square root form. 

 

ଵିݔ  (16)
ଷ 

 

 

 

ଶିݕ  (17)
ହ 

 

 

 

ଵିݖ  (18)
ସ 

 

 

 

(19)  ܽିଶ
ଷ 

 

 

 

(20)  ܾିସ
ହ 

 

 



 

 
  Change to index form. 

 

(21)  ඥܾܽଶయ
 

 

 

 

(22)  ඥܽଶܾଷఱ  

 

 

 

(23)  ඥݔଶݕସళ  

 

 

 

(24)  ඥܿଷ݀ହభయ  

 

 

 

(25)  ඥݔ଺ݕହభభ  

 

 

 
  Change to index form. 

 

(26)  
1

√ܾܽଷర  

 

 

 

(27)  
1

ඥݔଷݕଶఱ  

 

 

 

(28)  
1

√ܽଶܾହళ  

 

 

 

(29)  
1

ඥݔ଻ݕହవ  

 

 

 

(30)  
1

√ܿ݀ଶయ  

 



 

 
  Change to square root form. 

 

(31)  (ܾܽ)
ర
ఱ  

 

 

 

(32)  (ܿ݀)
ଵ
ଶ 

 

 

 

(ݕݔ)  (33)
ఱ
ల  

 

 

 

(34)  (ℎ݇)
ଶ
ଷ 

 

 

 

(35)  (݂݃)
య
ర  

 

 
  Change to square root form. 

 

(36)  (ܾܽ)ିయ
ర  

 

 

 

(37)  (ܿ݀)ିଶ
଻ 

 

 

 

(38)  (݃ℎ)ିభ
ఱ  

 

 

 

ସି(ݕݔ)  (39)
ହ 

 

 

 

(40)  (݉݊)ିଶ
ଷ 

 



 

 
  Evaluate the following. 

 

(41)  16
ଷ
ଶ  

 

(42)  4
ହ
ଶ  

 

(43)   9
ଷ
ଶ  

 

(44)  27
ଶ
ଷ 

 

(45)  64
ଶ
ଷ  

 

 
  Evaluate the following. 

 

(46)   125ି ଵ
ଷ  

 

(47)  16ି ଷ
ସ  

 

(48)  32ି ଶ
ହ  

 

(49)   81ି ଷ
ଶ  

 

(50)   100ି ଷ
ଶ  

 



 

 
  Evaluate the following. 

 

(51)   
1

4
ଵ
ଶ
 

 

 

(52)   
1

16ିଷ
ସ
 

 

 

(53)   
1

25ିଷ
ଶ
 

 

 

(54)   
1

121
ଵ
ଶ
 

 

 

(55)   
1

27ିସ
ଷ
 

 

 
  Evaluate the following. 

 

(56)   
25

ଵ
ଶ

16
ଷ
ସ
 

 

 

(57)  
9ିଵ

ଶ

100ିଵ
ଶ
 

 

 

(58)  
27

ଶ
ଷ

32ିଶ
ହ

 

 

 

(59)  
64ିଶ

ଷ

81
ଷ
ସ

 

 

 

(60)  
49

ଷ
ଶ

125ିଵ
ଷ
 

 



 

 
  Evaluate the following. 

 
 

(61) 
32

ଶ
ହ

4
ଵ
ଶ + 27

ଶ
ଷ

 

 

(62) 
36

ଵ
ଶ

9
ଵ
ଶ − 16

ଵ
ସ

 

 

(63) 
8

ଵ
ଷ + 27

ଵ
ଷ

16ିଷ
ସ

 

 

(64) 
49

ଵ
ଶ − 64

ଵ
ଷ

64ିଶ
ଷ

 

 

(65)  
27

ଶ
ଷ − 81

ଵ
ସ

1000
ଵ
ଷ + 81

ଵ
ଶ
 

 
  Evaluate the following. 

 
 

(66) 
16

ଷ
ସ

4
ଷ
ଶ + 32

ଶ
ହ
 

 

(67) 
8

ସ
ଷ

16
ଷ
ସ − 25

ଵ
ଶ
 

 

(68) 
81

ଵ
ସ + 27

ଶ
ଷ

121
ଵ
ଶ

 

 

(69) 
144

ଵ
ଶ − 64

ଶ
ଷ

128
ହ
଻

 

 

(70)  
64

ଶ
ଷ − 81

ଷ
ସ

343
ଶ
ଷ + 216

ଶ
ଷ
 

 


